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SN HBESLD
B SAMHAN (SYNLLL /Y - SE)
ool WBASY M) ASRH CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
301 LEAZ 2,050,800 2,050,800 0
12JEEd= 2,050,800 2,050,800 0
Ozgdsdts UssIt Moz N2 2,050,800
- H(RIs) 1,100, 000& *850ha 935,000
-H(R2s) 500,000& *415ha 207,500
- MRS (RIS) 1,200,000& *110ha 132,000
- AEAZ(Rs) 600, 000& *200ha 120,000
- Ma(RIs) 1,900, 000& *100ha 190,000
- WA (Rs) 1,200,000 *160ha 192,000
- = (RIs) 2,200,000& *30ha 66,000
- A (RsA) 1,400,000& *55ha 77,000
- S3A(RIs) 1,700,000& *24ha 40,800
- SR (RsY) 1,000,000& *72ha 72,000
- YUE(RI=) 900, 000& *10ha 9,000
- gus(RsY) 500,000& *5ha 2,500
- JIEBH(RIIs) 600,000& *5ha 3,000
- JIEBH(R=s9) 400,000& x10ha 4,000
2 -2 Xs A=2H 351,000 397,000 A 46,000
< 70,200
s 280,800
301 LA F 351,000 397,000 246,000
< 70,200
s 280,800
12 J|EtE4 = 351,000 397,000 A 46,000
2I - 2= s ASH XA (1,028ha)
351,000, 000& 351,000
< 70,200
[ia 280,800
sgEZeH 150,000 150,000 0
= 75,000
= 22,500
= 52,500
SgEdEd T2 XA 150,000 150,000 0
= 75,000
< 22,500
[ia 52,500
207 A RO 30,000 30,000 0
= 15,000
< 4,500
s 10,500
01 A7 39l 30,000 30,000 0
Osgazd:E2d 2208 3N 23
30,000,000& 30,000
= 15,000
< 4,500




SN HBESLD
B SAMHAN (SYNLLL /Y - SE)
o9l SYBALH CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o 10,500
307 12+l & 120,000 120,000 0
= 60,000
< 18,000
s 42,000
02 IZHEHAHE X 120,000 120,000 0
OsgadEd T2y =0&s 0™yl
120,000, 0003 120,000
= 60,000
< 18,000
s 42,000
HsHE2ZE 2435 368,464 260,620 107,844
= 30,622
= 3,000
s 334,842
HsHE 23 14,480 14,480 0
201 Let249] 13,500 13,500 0
01 At 22l 13,500 13,500 0
OFSHE Sgs 22 L By Y
6,000,000& »23| 12,000
OASAE stets HASE 29
500,000& x33| 1,500
202 04l 980 980 0
01 = LH 4 Hi 980 980 0
OA=HE 2h&s HIHAM33+T 8 e 323])
=0 dl 70,0003 x2& +73] 980
Hsel FEXE ALY 183,260 184,660 A 1,400
201 Let24d] 3,500 3,500 0
01 At 22l 3,500 3,500 0
OFsHE NIAZH AWM ME
2,700& x1,000% 2,700
OA=sHE EFHXA MY S22 =8 E20HA
=l 8,000 »2H x50 800
202 (44l 1,760 1,760 0
01 SLHOIYI 1,760 1,760 0
OAsHE FHTIAMNG(EY IsTFEHIU2)
HXHY 2248 2ol
20,0003 «2F 2L 128 960
OA=0 H= X AEHEA(KNAAS AR
e I AL 20,0003 x2H 10 23] 800
402 2I2H X201 M 178,000 179,400 A 1,400
01 2I2F 2 A B (KR ) 178,000 179,400 A 1,400
O7s =83 NI AMY
20,000,000& 155 Jt*50% 150,000




SN HBESLD
B SAMHAN (SYNLLL /Y - SE)
oo ASAZSY 245 EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OA=Q st =g/dl XI& A
8,000,000& x5 Jt*70% 28,000
HsHE =Hea o & 10,000 10,000 0
< 3,000
[ia 7,000
201 £B-2%H| 10,000 10,000 0
< 3,000
s 7,000
01 At 22/l 10,000 10,000 0
OAsLAHE &S It 5,000,000& »23| 10,000
< 3,000
[ia 7,000
HsHE &54H 2GXA 2,880 2,880 0
201 L4l 1,620 1,620 0
01 At 22l 1,620 1,620 0
OA=HE 4Z4H HIS2L(S01H M E
us) 135,000 «12& 1,620
202 o4dl 1,260 1,260 0
01 = LH o4 1l 1,260 1,260 0
OAsHE &4E4dH, As2AdE 29 N& 22
A28 20 (Z22) 70,0003 *3H 63 1,260
OHEN SEZE #E X4 3,600 3,600 0
301 LEMZ 3,600 3,600 0
09 SALAHIX A S 3,600 3,600 0
OFsAE 2UM |4
200,000& »23| x9S S 3,600
HsHAHE MEEXNAMH 29 93,000 25,000 68,000
201 Let24d] 20,000 0 20,000
01 At 22/l 20,000 0 20,000
OAsOHAHE MEEXNZLME EHOIX 25 2
Al 20,000,000& =14 20,000
301 LeEBAF 8,000 0 8,000
12 J|EtE 4= 8,000 0 8,000
OMEMEI = 100,000& = 10E x83l 8,000
401 Al HIZ 201 Y] 40,000 0 40,000
01 A& HI 40,000 0 40,000
OHATHEHAL A8 M2ME1 £X
10,000, 000& 10,000
OMFE NEHE A58 ANEstRA £X
30,000,000& 30,000
802 BtEt= DI EF 25,000 25,000 0
03 JIEtEtEt 3 S 25,000 25,000 0




AR SR = =R
U SFMALN (SYHL /Y - SE)
©el: AsAHE2Y B CERED
A - ER(EN) - AR - B of & o4 SSa HIDZ2
Ousd EAX wsH &= 200,000 20 4,000
Oousd 2= &= 1,000,000& =21 21,000
g8z MR =g sgEEY dEL 23 61,244 0 61,244
= 30,622
[a 30,622
101 124 H] 61,244 0 61,244
= 30,622
T 30,622
04 JIZtNZ22XNSE+ 61,244 0 61,244
Odsagdag LNl Arg 61,244
-JlEs 73,2803 260 x2H 38,106
= 19,053
[Ea 19,053
=58 73,2803 52 x2H 7,622
= 3,811
= 3,811
-d0= 17,368,000 /122 2 x300% 8,684
= 4,342
[a 4,342
-Ext=dg 73,2803 x 122 x2H 1,759
= 880
s 879
-AMEIEEE 3,633,000 14 3,633
= 1,816
[Ea 1,817
-0d I 40,0003 182 x2H 1,440
= 720
= 720
HsHE SAXS AL 400,000 400,000 0
= 200,000
T 40,000
= 160,000
HsHE SAK A AL 400,000 400,000 0
= 200,000
= 40,000
= 160,000
101 @124 H] 77,510 72,720 4,790
= 38,755
S 7,751
Ea 31,004
04 JIZtN 22 XS+ 77,510 72,720 4,790
OFsHELEUH 4EA 32,579
-J=2s 73,2803 x252& 18,467
= 9,180
= 1,847
s 7,440
- FrE 73,2803 52 3,811




2A: EHS LD
U SFMALN (SYHL /Y - SE)
©@H2: AsHE SAXSALY (&2 &)
SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
= 1,905
== 381
= 1,525
- &= 18,466,560 x4/12 6,156
= 3,078
o= 615
iy 2,463
- 4012 ¢ 28,432,640 x12% 3,412
= 1,760
== 341
= 1,311
- 92 AH| 73,280& *10L 733
= 366
< 74
= 293
ONSEXNIEEH &9 2124d]| 32,931
-Jle2s 73,280 252! 18,467
= 9,234
o= 1,847
= 7,386
- =524 73,280& x52%= 3,811
= 1,905
== 381
= 1,525
- M= 18,466,560 x4/12 6,156
= 3,078
o= 615
= 2,463
- 4012 28,432,640 x12% 3,412
= 1,706
= 341
= 1,365
- G2 A 73,280& x10& 733
= 367
< 74
= 292
- 5222 352,000& 14! 352
= 176
== 35
= 141
OMSEXNILNH 29 =2 & EH Il 2&HH|
150, 000& x4 20 12,000
= 6,000
== 1,200
= 4,800
201 LBt 122,340 207,280 A 84,940
= 61,170
= 12,234
= 48,936
01 AR 22l bl 36,620 92,880 N 56,260
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A 2P s Lt
U SFMALN (SYHL /Y - SE)
@2 AsHE SIXNZ ALY (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
= T.050
= 210
= 840
OZANE KX 222 MZ 10,000
- OHLHAM HIZ 5,000,000& =14l 5,000
- 2,500
< 500
= 2,000
- 22 2dET HH 5,000,000& » 14! 5,000
= 2,500
= 500
[ia 2,000
02 8323l 46,720 49,400 A 2,680
OMFEXNAMH 2 &3
1,500,000& =122 18,000
- 9,000
< 1,800
2 7,200
ONBHNAHE 29 S4R3
200,000& x12& 2,400
= 1,200
= 240
i 960
OMSFEXNAEH 298 &=
100,000& =122 1,200
= 600
< 120
i 480
OMFEXNAMH 22 HARS
100,000& »12& 1,200
= 600
< 120
[ia 480
OMFEXNJEH 28 sIIH |RFH
100,000& =102 1,000
= 500
< 100
s 400
OMFEXNALEH 29 A& & FHI KU
20,000,000& =14 20,000
= 10,000
< 2,000
s 8,000
OMFEXNJLH AlY, =212 3t EE=
1,000, 000& *13] 1,000
= 500
< 100
s 400
OMFENJEEH 2% R AL AIAE
160,000& 12& 1,920
= 960

- 22 -




A 2P s Lt
U SFMALN (SYHL /Y - SE)
@2 AsHE SIXNZ ALY (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
< 192
s 768
03 A2 Z Hl 39,000 65,000 A 26,000
OFsel Hdalsd As 2,500,000& 43| 10,000
- 5,000
< 1,000
s 4,000
ObtSte ®0tot= 83| 500,000 =183l 9,000
= 4,500
= 900
e 3,600
OHFsHEL 802 3l 10,000, 000& 12/ 10,000
= 5,000
< 1,000
s 4,000
OMSEXNEH 2g LA & w4
5,000,000& =23l 10,000
= 5,000
< 1,000
[ia 4,000
202 odl 2,000 0 2,000
= 1,000
< 200
[ia 800
01 = LH o4 1l 2,000 0 2,000
OA=sHE SXXNIAAG =& Kl 2,000
- HMSEXNJLMH2HA FRFE Yl
20,0003 203 x2H 800
= 400
< 80
s 320
- SAXNE T8 2% 0l
20,0003 203 *3H 1,200
= 600
< 120
i 480
206 T 2 bl 22,000 16,000 6,000
= 11,000
< 2,200
s 8,800
01 =8l 22,000 16,000 6,000
OMFEXNIALH ns dessd =9, g4l S
-2 20,000& *10 0*50]H 10,000
= 5,000
< 1,000
e 4,000
OMFEXNJAHE nE s 224 =732
-2 40,000 *10E+30M E 12,000
= 6,000
< 1,200

_23_




AN HEZ st
U SFMALN (SYHL /Y - SE)
@2 AsHE SIXNZ ALY (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
o 4,800
301 LEAZ 34,150 12,000 22,150
= 17,075
< 3,415
s 13,660
09 HALAHIX RS 3,150 5,000 A1,850
OMBENAME DS NN &4
50, 000& x21Z *33| 3,150
- 1,575
< 315
s 1,260
12 JIEHE4 3 31,000 7,000 24,000
ONBHNAHE D] 2ALY
500,000 x243| 12,000
- 6,000
< 1,200
e 4,800
OsUEI 2 200,000 x5 102 10,000
= 5,000
< 1,000
2 4,000
OS&E0IA &0H2Il &l
300,000& x5 6 9,000
= 4,500
< 900
[ia 3,600
307 21201 A 102,000 62,000 40,000
= 51,000
< 10,200
[ia 40,800
02 IS AT ELS 102,000 62,000 40,000
OMsUs Asel Feag
5,000,000 =44 2~ 20,000
= 10,000
< 2,000
[ia 8,000
OEANY & Mg Z218 24
7,500,000& »23] 15,000
= 7,500
< 1,500
[ia 6,000
O=sZ&0lAM 0/2l &0t22I1 57,000,000 10 2 57,000
= 28,500
= 5,700
[ 22,800
OA=sHERL HAEEZ Izl 5,000,000& 23] 10,000
= 5,000
< 1,000
s 4,000
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2A: EHS LD
B SAMHAN (SYNLLL /Y - SE)
Sl AsAE XKD AY CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
402 SI2FXHE0| M 40,000 30,000 10,000
= 20,000
& 4,000
= 16,000
02 CIZEXIE A EX (0| XM THL) 40,000 30,000 10,000
OHA=so & LAY 40,000,000 x 104 &~ 40,000
= 20,000
= 4,000
= 16,000
AlSEAbl A UG (SEHSSA/sE - 55) 27,819,968 26,951,200 868,768
= 293,440
J| 21,278,422
= 1,729,298
= 4,518,808
st A5S0H X & 25,690,878 24,751,730 939, 148
J| 21,278,422
& 1,446,136
= 2,966,320
o HIAUHEAZ2 X 201,680 202,880 A 1,200
201 LBt 9| 680 1,080 A 400
01 AP 22| d| 680 1,080 A 400
O AYAFNSNA MY 22 =FS 98
EZ204AHl| 8,000 x5 %17 680
202 044l 1,000 1,800 A 800
01 2L I 1,000 1,800 A 800
OY HIHAHXNSAE AIY P28 20|
20,000 x5H 10 1,000
301 et A =2 200,000 200,000 0
12 J|IEtE2 A= 200,000 200,000 0
OY HIHAEXNSKE ALY 200,000
- RJl=s 450,000€ *120ha 54,000
-2 400,000< *50ha 20,000
- 2Bt 350,000 *360ha 126,000
Z2AXSAIA (D2E) 19,712,000 19,712,000 0
J| 19,712,000
301 et M= 19,712,000 19,712,000 0
J| 19,712,000
12 JIEtE &= 19,712,000 19,712,000 0
OJIgdy Z2UAXNSAMNY 19,712,000,000& 19,712,000
J| 19,712,000
ZDOARS AL (HEHS) 1,517,670 0 1,517,670
J| 1,517,670
301 et A =2 1,517,670 0 1,517,670
J| 1,517,670
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AN dEFsetn
&

HE: AT B B (SPHLLM/5Y - 5F)
Sl S0 ASOE X CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
12JEEd= 1,517,670 0 1,517,670
OHEE ZUNSAY(=0/2F)
1,517,670,000& 1,517,670
J| 1,517,670
SARS A (B EHI) 48,752 47,104 1,648
J| 48,752
101 14 Hl 34,296 32,648 1,648
J| 34,296
04 JIZHHZ22XRHEE S 34,296 32,648 1,648
OBAXESH Mael oAy
73,2803 x2F 262 <M S H 34,296
J| 34,296
201 £B-2dH| 14,456 14,456 0
J| 14,456
01 At 22/l 14,456 14,456 0
OZYXEN SHHI 14,456,000 14,456
J| 14,456
H ZIEUME X 2,616,117 2,616,117 0
= 1,046,447
i 1,569,670
301 LEAZ 2,616,117 2,616,117 0
< 1,046,447
s 1,569,670
12 JIE 24 = 2,616,117 2,616,117 0
Ol YT XA
2,616,117,000& 2,616,117
< 1,046,447
e 1,569,670
= Et&= Ul X & 187,720 685,650 A 497,930
< 37,544
e 150,176
301 LPEXZ 187,720 685,650 A 497,930
< 37,544
s 150,176
12 JE2 4= 187,720 685,650 A 497,930
O= EtZZSTEH XI& At (75ha)
187,720,000& *100% 187,720
< 37,544
e 150,176
ESsdtE S 2,500 2,500 0
< 750
s 1,750
301 LEMZ 2,500 2,500 0
< 750
s 1,750
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AN dEFsetn
&

HE: AT B B (SPHLLM/5Y - 5F)
& st ASHE X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
12JEEd= 2,500 2,500 0
OEsstts |54 NFAME
500, 000& *5ha*100% 2,500
< 750
e 1,750
sHAE=MHHEEZ K& 1,198,724 1,198,724 0
< 299,681
s 899,043
301 LEHZ 1,198,724 1,198,724 0
< 299,681
s 899,043
12IJEEd=S 1,198,724 1,198,724 0
sXNE MHl2EE82 XN AY
2,996,810,000& *40% 1,198,724
= 299,681
s 899,043
Sl otdEH K& 136,014 136,014 0
< 40,804
s 95,210
301 LEd = 136,014 136,014 0
< 40,804
s 95,210
12 JIEBHE4 = 136,014 136,014 0
Osgeol tNdEd XFAY
123,000& *3,686 X *30% 136,014
< 40,804
s 95,210
sIIH Sgedgas N 69,701 69,701 0
< 20,910
s 48,791
301 EtEH = 69,701 69,701 0
< 20,910
s 48,791
1224 = 69,701 69,701 0
OsJIH s8E8g NAY
601,900& *386LCH *30% 69,701
< 20,910
s 48,791
AHXNE MAXH 2,129,090 2,199,470 70,380
= 293,440
< 283,162
[ia 1,552,488
NN MM M =8 506,951 506,951 0
201 2et24d] 2,451 2,451 0
01 At 2teltl 2,451 2,451 0
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AN HEZ st
HE: AT B B (SPHLLM/5Y - 5F)
SHel AZES MAX CER-ED
= _ — d =
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